EARAROBEEIERT — 2 N— IBISH —F

2018558250 (&) 4BIA#5H

o R3m® 26 97 E3 82K

EZS

& ‘ [RERSE] — | & (&) 16000 FBE

[AE<%] 1 7% :1,800,000 § ~ 27&:720,000 F 3 7 :450,000 4

4 7% :270,000 B 5 3& :180,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N ¢ . BT 143. —13-2- . - 1EH#H= (KH)
sl 7| vnr—t1Lz 3 s 1(4_3)4 13-13-2-2 | 39.8 12 ig;) il
R:vO7% BHIIXTT =
. EHEZ 43, —5-5- 3| - BEA ()
sl5l6|vaLT R % MR R 2 3012) s
Zox14m B —J—kMAKL [xse]
\ . i 3 | AEE 1:43.7 2-2-1-1 [ 39.9| — 6 498 | NEFIIR (KFH)
3 57UT—JD7/ 56.0 (1 3/4) ) (®) Hxo=avy
R:7UF—-v B:wT7IF e Hs=
)13, : —8-7- — BERE (KH#H)
4 o| 7AO—2T A= 4 3 Al 1.(424).1 6-8-7-6 | 39.8 4 <4+332) E ) s
RZAZXATLHR BNYTHSTN— k 7S5 Fis
e . . + 3 | FHEfE— 1:44.4 3-3-3-3 | 40.5| — 5 473 | BEBHEX (KH)
5 8 13 Irr f*l/Z:I—)l/ [" * 56.0 (1 1/2) (-3) BFFWF
:ZAw— 773> B4 d—d—ILFK Va—-T7—L4L
s= 2 o [inpe ] 144, -11-12- . — HAFRIEA (/\Hh)
617110 5530w 4 3 2y 1;@;5 10-11-12-12| 39.8 1 (4_865) i
RN—5—Yy T B:F54v—Va (B) #HAEI-FKL—va>AE77
S5, =2 4 3 | AHEE 1:44.7 7-6-4-5 |40.6| — 9 502 | fREEAL ()
771177/7/IU 54.0 ) -3) E'Mntmnaﬁonm(
:nyizgy—X B:IvEYU-— R S
VN \— K H o3 | AR 1:45.0 4-4-8-8 |40.8| — | 7 | 466 |BWRiE CKH)
8 2| ¥ T ==K 56.0 (1 3/4) (1) |IEABA—E8
;Y= XB—3=Z248— B:>—TI— EHik JIE—
. P by .45 _7-10— . — YEITAZ (/)\hk)
9 3| TIR-—TA b 3 e 1(14/52; 8-7-10-9 | 40.4 10 zzg? mgﬁ#%&
R:TF9v78%Y—F BiLA4Iv—X1FK 1£BE BT
= # 3 | BEA 1:45.2 8-9-9-10 |40.8| — 3 488 | MIEA (fiatE)
1Ml g | TATAH T — 56.0 (7€) (1) | FEEEA
RTEOAXLGTEL B — AT — LR RN
i 3 | ElIERE 1:46.0 1-1-6-7 | 41.9| — 8 465 |BRE (K3H)
" MEE2% 54.0 @ © |IEDEL—E
LTV ZRI K By INI T BHR=H R RSS
] . 4t 3 | PIEFIME 1:46.3 1M-11-11-11| 41.5 | — 1| 467 | EREER (KH)
12|8[12| ¥ 7NVE VT 54.0 (11/2) 2) Kl
gy —30F7> B:FUEVE> NS T — i
. A 8. 10-13-13] 42.6 | — MNHFERE (1)
1Bl LgTUay b it 3 S 1 (488)0 12-10-13-13| 42.6 13 :?2) bl
R:A—J XA A4 B:eH N, FRLBRS
® I—F—@EBIERL
|S=7r= 4,5,13,2,6,9,11,(3,8),10,12,1,7
20—7— 4,5,13,2,6,11,3,9,8,1, (10,12) ,7
3T—7— 5,7,13,11,6,4,9,2,8,3,12,10,1
43—+ — 5,7,13,6,11,9,4,2,3,8,12,10,1
[ RN
B 7 10,080M 794K 6-7 5,390 & 5-5 19,320 &R 5-6-7 68,210
# B 7 2,010/ 5-7 11,980 B 9 18,550 EE 7-6-5 704,340
6 240M 5-6 1,230H B = 6-7 26,650
5 410M B H 7-6 82,950

ABICOVWTRDTEEERROODE. TR LIV,




